VCE & PDF https://www.pass4itsure.com/h13-629.html
g 2024 Latest passditsure H13-629 PDF and VCE dumps Download

PassditSure.com

H13-62909%A°

HCIE-Storage V2.5

Pass Huawei H13-629 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/h13-629.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Huawei
Official Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

Latest H13-629 Dumps | H13-629 Practice Test | H13-629 Exam Questions 1/3


https://www.pass4itsure.com/h13-629.html
https://www.pass4itsure.com/h13-629.html
https://www.pass4itsure.com/h13-629.html

VCE & PDF https://www.pass4itsure.com/h13-629.html
a 2024 Latest passditsure H13-629 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

Which of the following describes Youtube, Facebook and other content warehouse sites data storage? (multiple choice)
A. unstructured data high proportion

B. large amount of data, rapid growth

C. A variety of data types

D. data unit GB value of high density

Correct Answer: ABC

QUESTION 2

When using OceanStor V3, you need to mount the file system snapshot to access the snapshot data.
A. True

B. False

Correct Answer: B

QUESTION 3

The client environment is the HP-UX11i v2 operating system, the HBA is the AD193A, and the operating system comes
with the driver. The storage array is Huawei OceanStor V3. When the LUN mapping between HP-UX and the storage
system is completed, you can not change the topology mode of the FC host interface card on the storage system.

A. True

B. False

Correct Answer: A

QUESTION 4

Customers need to migrate 10TB service data from a manufacturer\\'s mid-tier storage to Huawei OceanStor S5600T
(V100RO005), storage array, A total of 120 LUN carrying oracle, ESXI virtual machine business plans to use VIS6000T
local image data migration. Based on this, which of the following is incorrect?

A. Check the compatibility list of the VIS 6000T to determine if all the storage devices are compatible with the
VIS6000T

B. Check the number of fiber switch ports to ensure that each node and switch VIS6000T redundant links

C. Check if there is enough room for DCO configuration
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D. Confirm that heterogeneous common storage multipathing software and Ultrapath multipathing must be compatible

Correct Answer: D

QUESTION 5

With Simpana in a multi-card, multi-network environment, you can use the data interface data interface
pairs (DIP) to set the data from the source end-to-end network transmission path. Source and destination
can use the host name and IP address to describe the network interface.

There are multiple network connections that can be configured to send multiple concurrent data streams.
Based on this, which of the following configuration methods should be used? (multiple choice)

A. Use the Client properties in the job configuration

B. By configuring the ValutTracker strategy

C. In the control panel data Interface pair configuration

D. Use data IFPaires.exe to configure multi-stream concurrent DIP

Correct Answer: BCD
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